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I " mwn: embedded nmvm (con't)
a if he states: " am a 7’11 when I have a son and a 11 [immediately] for 100 days"
i if he has a son before reaching day #70 — he loses nothing
1 explanation: he practices the days of his own mm, suspends them while he practices the 30 for his
son's birth, completing them by shaving and bringing the nm11p, then resumes where he left off
and completes the 100, having at least 30 days of growth
ii  if he has a son after reaching day #70 — he loses back to #70, since nnn requires at least 30 days of
growth
b ruling of 27. day #70 counts for both m»ym
i explanation: if his son was born on day #70, that is the first day of his son's m~1, as well as no loss of
days
ii  challenge: 1 clause in nwn indicates that he only loses if son is born before day #70
1 explanation: if day #70 counts for both — he's actually gained a day (total will be 129)
2 answer: indeed, but since clause #2 must read "after 70", clause #1 read "until 70"
iii  challenge: 27 clause in Nwn indicates that he loses if born after 70
1 explanation: day #71 should leave him with having lost nothing
2 answer: "after" means day #72
3 rejection: if so, clause #1 shouldn't read "until 70", since even after 70 he loses nothing
4 indeed; 27's explanation is rejected as being valid within our nawn
iv  Query: whose opinion is 21 relying on?
1 Suggestion #1: 53R® RaR in re: MYaR — he holds that a partial day of practicing nw9v, e.g. before a 91
constitutes a Dyp of WYY NI and the Y31 cancels it
(a) Rejection: perhaps he only applies that to m%ax which is 12277 — but mvn is Rn»IRT
2 Suggesiton #2: 701 "1 in re: DY TN DY NN — if they bring the noa on her behalf on her 2nd day
(mmw) and she sees nat afterwards, she is exempt from v noa
(a) Explanation: ov "y must hold that even regarding Xn»718T nxen — part of the day is a complete
day
(b) Challenge: >0y "1 maintains that in such a case (or a ar who saw twice and then, on day #7 they
brought the noa for him after which he had another n»x1), the nkmv is retroactive (though
exempt from »v noa)

(i) Answer: retroactive nRmMVY, in this case, is 131377 — otherwise, s/he wouldn't be exempt from
1YW NDH

(if) Alternate possibility: perhaps y7an% nRmMY is n"nn, but they were lenient regarding ar nkmv
that was unknown at the time (Dynn n&nv), as they were regarding nn nkmv

(c) Support: ®wYWIR "1 (in dispute with 130y 1) maintains that »o» "1 holds that 15135 0yn n¥pn and

the retroactive nRmV is 131277.
3 Tangential question: according to *ov "3, how could there ever be a N> nar

(a) Explanation: since 1,122 nYn n¥pn, every day, after she sees, she's had 11w and that "sighting"
stands alone
(i) Answerl: she saw for 3 straight days without interruption
(if) Answer2: she saw 3 days just at sunset, so there was no time (each day) for any mnw
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